

EVENTS (7.1 Notes)

$$\textcircled{2} \cos \theta (\sec \theta - \cos(-\theta)) = \sin^2 \theta$$

$$\cos \theta \sec \theta - \cos \theta \cos(-\theta) = \sin^2 \theta$$

$$\frac{\cos \theta \cdot \overset{\textcircled{A}}{1}}{\cos \theta} - \cos \theta \cos(-\theta) = \sin^2 \theta$$

$$\frac{\cos \theta}{\cos \theta} - \cos \theta \cos(\theta) = \sin^2 \theta$$

$$1 - \cos(\theta) \cos(\theta) = \sin^2 \theta$$

$$1 - \cos(\theta) \cos(\theta) \overset{\textcircled{B}}{=} \sin^2 \theta$$

$$1 - \cos^2 \theta = \sin^2 \theta$$

$$\textcircled{C} \sin^2 \theta = \sin^2 \theta$$

Ⓐ Reciprocal Id

Ⓑ Even/Odd Id

Ⓒ Pyth Id.

Fill Notes

$$(4) \csc \theta + \sin(-\theta) = \csc \theta \cot \theta$$

$$(A) \frac{1}{\sin \theta} + \sin(-\theta) =$$

$$\frac{1}{\sin \theta} + -\sin \theta \quad (B) =$$

$$\frac{1}{\sin \theta} - \frac{\sin \theta}{1} =$$

$$\frac{1}{\sin \theta} - \frac{\sin \theta}{1} \cdot \frac{\sin \theta}{\sin \theta} =$$

$$\frac{1}{\sin \theta} - \frac{\sin^2 \theta}{\sin \theta} =$$

$$\frac{1 - \sin^2 \theta}{\sin \theta} =$$

$$(C) \frac{\cos^2 \theta}{\sin \theta} =$$

$$\frac{\cos \theta}{\sin \theta} \cdot \frac{\cos \theta}{1} =$$

$$(D) \cot \theta \cdot \cos \theta = \cot \theta \cos \theta$$

- (A) Reciprocal
- (B) Even/Odd
- (C) Pythag
- (D) Quotient

7.1) Notes Eves

$$(6) \frac{1 - \cos \theta}{\sin \theta} - \frac{\sin \theta}{1 + \cos \theta} = 0$$

$$\frac{(1 - \cos \theta)(1 + \cos \theta)}{\sin \theta (1 + \cos \theta)} + \frac{-\sin \theta (\sin \theta)}{(1 + \cos \theta) (\sin \theta)} = 0$$

$$(A) \frac{1 - \cos^2 \theta}{(\sin \theta)(1 + \cos \theta)} + \frac{-\sin^2 \theta}{\sin \theta (1 + \cos \theta)} = 0$$

$$(B) \frac{\sin^2 \theta}{(\sin \theta)(1 + \cos \theta)} + \frac{-\sin^2 \theta}{\sin \theta (1 + \cos \theta)} = 0$$

$$\frac{\sin^2 \theta - \sin^2 \theta}{(\sin \theta)(1 + \cos \theta)} = 0$$

$$\frac{0}{(\sin \theta)(1 + \cos \theta)} = 0$$

$$0 = 0$$

(A) BOTS

(B) Pythid

(7.1) Notes Evens

$$(8) \csc \theta (\csc \theta - \sin \theta) = \cot^2 \theta$$

$$\csc^2 \theta - \csc \theta \sin \theta = \cot^2 \theta$$

$$\csc^2 \theta - \csc \theta \cdot \frac{1}{\csc \theta} \textcircled{A} = \cot^2 \theta$$

$$\csc^2 \theta - \frac{\csc \theta}{\csc \theta} = \cot^2 \theta$$

$$\csc^2 \theta - 1 = \cot^2 \theta$$

$$\textcircled{B} \cot^2 \theta = \cot^2 \theta$$

④ Reciprocal Id

⑤ Pyth Id

7.11) Hwk evens

$$\textcircled{2} \frac{\cos \theta \sec \theta}{\tan \theta} = \cot \theta$$

$$\frac{\cos \theta}{1} \cdot \frac{\sec \theta}{1} \cdot \frac{1}{\tan \theta} = \cot \theta$$

$$\frac{\cos \theta}{1} \cdot \frac{1}{\cos \theta} \cdot \frac{1}{\tan \theta} = \cot \theta$$

$$\frac{\cos \theta}{\cos \theta} \cdot \frac{1}{\tan \theta} = \cot \theta$$

$$1 \cdot \frac{1}{\tan \theta} = \cot \theta$$

$$\textcircled{B} \cot \theta = \cot \theta$$

Ⓐ Reciprocal

Ⓑ Reciprocal

$$\textcircled{4} \sin \theta + \cos \theta \cot \theta = \csc \theta$$

$$\frac{\sin \theta}{1} + \frac{\cos \theta}{1} \cdot \frac{\cos \theta}{\sin \theta} = \csc \theta \textcircled{A}$$

$$\frac{\sin \theta}{1} + \frac{\cos^2 \theta}{\sin \theta} = \csc \theta$$

$$\frac{\sin \theta}{\sin \theta} \frac{\sin \theta}{1} + \frac{\cos^2 \theta}{\sin \theta} = \csc \theta \textcircled{A}$$

$$\frac{\sin^2 \theta}{\sin \theta} + \frac{\cos^2 \theta}{\sin \theta} = \csc \theta$$

$$\frac{\sin^2 \theta + \cos^2 \theta}{\sin \theta} = \csc \theta$$

$$\textcircled{B} \frac{1}{\sin \theta} = \csc \theta$$

$$\textcircled{C} \boxed{\csc \theta = \csc \theta}$$

Ⓐ Quotient Id

Ⓑ Pyth Id

Ⓒ Reciprocal Id

$$(6) \tan \theta + \cot \theta = \sec \theta \csc \theta$$

$$(A) \frac{\sin \theta}{\cos \theta} + \frac{\cot \theta}{1} = \sec \theta \csc \theta$$

$$\frac{\sin \theta}{\cos \theta} + \frac{\cos \theta}{\sin \theta} \text{ (B)} = \sec \theta \csc \theta$$

$$\frac{\sin \theta \sin \theta}{\sin \theta \cos \theta} + \frac{\cos \theta \cos \theta}{\sin \theta \cos \theta} = \sec \theta \csc \theta$$

$$\frac{\sin^2 \theta}{\sin \theta \cos \theta} + \frac{\cos^2 \theta}{\sin \theta \cos \theta} = \sec \theta \csc \theta$$

$$\frac{\sin^2 \theta + \cos^2 \theta}{\cos \theta \sin \theta} = \sec \theta \csc \theta$$

$$(C) \frac{1}{\cos \theta \sin \theta} = \sec \theta \csc \theta$$

$$\frac{1}{\cos \theta} \cdot \frac{1}{\sin \theta} = \sec \theta \csc \theta$$

$$(D) \sec \theta \cdot \frac{1}{\sin \theta} = \sec \theta \csc \theta$$

$$\boxed{\sec \theta \cdot \csc \theta \text{ (E)} = \sec \theta \csc \theta}$$

- (A) Quotient
- (B) Quotient
- (C) Pythag
- (D) Reciprocal
- (E) Reciprocal

HWK

$$\textcircled{8} \frac{\sec \theta - \cos \theta}{\sec \theta} = \sin^2 \theta$$

$$\frac{\sec \theta}{\sec \theta} - \frac{\cos \theta}{\sec \theta} = \sin^2 \theta$$

$$1 - \frac{\cos \theta}{\sec \theta} = \sin^2 \theta$$

$$1 - \frac{\cos \theta}{1} \cdot \frac{1}{\sec \theta} = \sin^2 \theta$$

$$1 - \cos \theta \cdot \cos \theta \textcircled{A} = \sin^2 \theta$$

$$1 - \cos^2 \theta = \sin^2 \theta$$

$$\boxed{\sin^2 \theta \textcircled{B} = \sin^2 \theta}$$

Ⓐ Reciprocal

Ⓑ Pyth. Id

211 HWK
10

$$2\cos^2\theta - 1 = 1 - 2\sin^2\theta$$

$$2[1 - \sin^2\theta] - 1 = 1 - 2\sin^2\theta \quad \textcircled{A}$$

$$2 - 2\sin^2\theta - 1 = 1 - 2\sin^2\theta$$

$$2 - 1 - 2\sin^2\theta = 1 - 2\sin^2\theta$$

$$\boxed{1 - 2\sin^2\theta = 1 - 2\sin^2\theta}$$

Ⓐ Pyth Id

10 Method 2

$$2\cos^2\theta - 1 = 1 - 2\sin^2\theta$$

$$= 1 - 2[1 - \cos^2\theta] \quad \textcircled{A}$$

$$= 1 - 2 + 2\cos^2\theta$$

$$= -1 + 2\cos^2\theta$$

$$\boxed{2\cos^2\theta - 1 = 2\cos^2\theta - 1}$$

Ⓐ Pyth Id

Hwk 7.1

$$(12) \sec^4 \theta - \tan^4 \theta = \sec^2 \theta + \tan^2 \theta$$

$$(A) (\sec^2 \theta + \tan^2 \theta)(\sec^2 \theta - \tan^2 \theta) = \sec^2 \theta + \tan^2 \theta$$

$$(\sec^2 \theta + \tan^2 \theta) (1) = \sec^2 \theta + \tan^2 \theta$$

(B)

$$\sec^2 \theta + \tan^2 \theta = \sec^2 \theta + \tan^2 \theta$$

(A) tot's

(B) Pyth Id

Method (2)

$$\sec^4 \theta - \tan^4 \theta = \sec^2 \theta + \tan^2 \theta$$

$$(A) \frac{1}{\cos^4 \theta} - \frac{\tan^4 \theta}{1} =$$

$$\frac{1}{\cos^4 \theta} - \frac{\sin^4 \theta}{\cos^4 \theta} =$$

$$\frac{1 - \sin^4 \theta}{\cos^4 \theta} =$$

$$(B) \frac{(1 - \sin^2 \theta)(1 + \sin^2 \theta)}{\cos^4 \theta} =$$

$$(C) \frac{\cos^2 \theta}{\cos^2 \theta} \cdot \frac{1 + \sin^2 \theta}{\cos^2 \theta} =$$



HW K 71 (#12) cont

$$\frac{\cos^2 \theta}{\cos^2 \theta} \cdot \frac{1 + \sin^2 \theta}{\cos^2 \theta} = \sec^2 \theta + \tan^2 \theta$$

$$1 \cdot \frac{1 + \sin^2 \theta}{\cos^2 \theta} = \sec^2 \theta + \tan^2 \theta$$

$$\frac{1 + \sin^2 \theta}{\cos^2 \theta} = \sec^2 \theta + \tan^2 \theta$$

$$\frac{1}{\cos^2 \theta} + \frac{\sin^2 \theta}{\cos^2 \theta} = \sec^2 \theta + \tan^2 \theta$$

$$\textcircled{D} \sec^2 \theta + \frac{\sin^2 \theta}{\cos^2 \theta} = \sec^2 \theta + \tan^2 \theta$$

$$\boxed{\sec^2 \theta + \tan^2 \theta = \sec^2 \theta + \tan^2 \theta}$$

Ⓔ

Ⓐ Reciprocal

Ⓑ DOYS

Ⓒ Pyth Id

Ⓓ Reciprocal

Ⓔ Quotient